Econometrics Quiz 2
Recall that the ^ indicates raised to the power, so ^.5 means the square root and^2 means 
squared.
​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​_______________________________________________________________________
1. An econometric model of demand is given by Q = a-bP + e, where Q is
   the quantity demanded, P is price, and a and b are parameters and e
   is a random error with a mean of zero.  The conditional expectation of

   Q given P, E(Q|P),  is 

Your answer:

A. not determinable from the given information.
B. a-bP.
C. a-bP+e.

D. both B and C are true.
2. In the econometric model of demand in question 1

Your answer:

A. –b is the slope of the demand function.
B. a is the quantity demanded at the price of zero.  

C. neither A or B is correct.
D. both A and B are correct.

3. The linear regression model of demand in question 1 

Your answer:

A. uses data on a and b to estimate P and Q.

B. uses data on P and Q to estimate a and b.

C. neither a or b.

D. none of the above.
4. The linear regression model assumes that

Your answer:

A. The independent variable and the values of the error are uncorrelated. 

B. the dependent and independent variables are uncorrelated.
C. the parameters estimates are uncorrelated.
D. none of the above.
5. Let Y = a + x^b + e be the econometric model, where Y is the dependent variable, X the independent variable, a and b are parameters, and e is the random error.  This model violates the assumption that
Your answer:
A. the independent variables take on more than one value.
B. the error term has mean zero.

C. the error terms has constant variance.

D. the model is linear in the parameters.

6. Let the model be Y = a + bX + v, where a and b are parameters, Y is the dependent variable,  X is the independent variable, v = cX + e, c is a parameter not equal to 0, and e is a random variable which satisfies the five usual assumptions.  The error term v

You answer:

A. is correlated with the independent variable.
B. satisfies the five usual assumptions.
C. has a mean of zero (conditional on X).
D. all of the above.

7. The ordinary least squared regression model finds values of the unknown parameters which 

Your answer:

A. minimize the sum of the squared residuals (deviations of the observed points from the predicted points).  

B. minimize the average residual (deviations of the observed points from the predicted points).

C. minimize the absolute value of the sum of the residuals (deviations of the observed points from the predicted points). 

D. None of the above.

8.  You are reading an empirical paper in economics which reports the
     following estimated demand function:  Ln (Q) = 100 -.75*  Ln (P),
     where Ln is the natural logarithm, Q is quantity and P is price. 
Your answer:

A.  The slope of the demand function is -.75

B.  The elasticity of the demand function is -.75.

C.  The slope of the demand function is 100.

D.  The elasticity of the demand function is 100.

9.  Suppose the estimated demand function was:  Ln (Q) = 100 - .75P.
Your answer:

A.  A one unit rise in price causes a 75 percent reduction in quantity demanded.

B.  The elasticity of the demand function is -.75.

C.  The elasticity of the demand function is 100.

D.  A one percent rise in the price causes a 75 percent reduction in the quantity demanded.

10.  The estimated variances of the least squares estimators depend upon
Your answer:

A.  the sample variance of the fitted errors.

B.  the sample variance of the independent variables.

C.  the sample size.

D.  All of the above. 
